

前問の証明 II

$$A = \begin{pmatrix} a & c \\ b & d \end{pmatrix}, \vec{v}_1, \vec{v}_2 \in \mathbb{R}^2 \text{ とする}$$

$${}^t A = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \text{ とする}$$

$$(A\vec{v}, \vec{w}) = (\vec{v}, {}^t A\vec{w})$$

$$\vec{v} = \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} \text{ とする. } A = (\vec{\alpha} \vec{\beta}) \text{ とする. } {}^t A = \begin{pmatrix} \vec{\alpha} \\ \vec{\beta} \end{pmatrix}$$

に注意する。

$$\begin{aligned}
(A\vec{v}, \vec{w}) &= (v_1\vec{\alpha} + v_2\vec{\beta}, \vec{w}) \\
&= v_1(\vec{\alpha}, \vec{w}) + v_2(\vec{\beta}, \vec{w}) \\
&= \left( \begin{pmatrix} v_1 \\ v_2 \end{pmatrix}, \begin{pmatrix} (\vec{\alpha}, \vec{w}) \\ (\vec{\beta}, \vec{w}) \end{pmatrix} \right) \\
&= \left( \begin{pmatrix} v_1 \\ v_2 \end{pmatrix}, \begin{pmatrix} {}^t \vec{\alpha} \\ {}^t \vec{\beta} \end{pmatrix} \right) \\
&= (\vec{v}, {}^t A\vec{w})
\end{aligned}$$

$\frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ 
 $\vec{\beta} = \begin{pmatrix} a \\ b \end{pmatrix}$ 
 $\vec{\alpha} = \begin{pmatrix} c \\ d \end{pmatrix}$

$$B\vec{w} = \begin{pmatrix} a & c \\ b & d \end{pmatrix} \vec{w}$$

Σを用いる。